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Answer all questions. )

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as wrong answer.

Each question has four afternative tesponses marked serially as 1, 2, 3, 4. You have to darken only one

Gircle or bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN.

13 part of the mark(s) of each question will be deducted for each wrotig answer. (A wrong answer

means an incofrect answar of more than one answers for any question. Leaving all the relevant circlas or

bubbles of any question blank will not be considered as wrong answer.)

7. The candidate should ensure that Series Code of the Quastion Paper Booklet and Answer Sheet must be
same after opening the envelopes. In case they are different, a candidate must obtain another Question
Paper of the same series. Candidate himself chall be Tesponsitle for ensuring this.

8. Mobile Phone or any other electronic gadget in the examination hall is strictly prohibited. A candidate found
with any of such objectionable matenal with him/her will be striclly dealt as per rules..

9. Please cotrecty fill your Foll Number in OM.R. Sheet. 5 marks will be deducted for filling wrong of
incomplete Roll Number. ]

10. If there is any sort of ambiguity/mistake either of printing of factual nature then out of Hindi and English

Version of the question, the English Version will be treated as standard, .

Warning : i a candidate is found copying of if any unauthorised material is found in his/her possession,

' EL.A. would be lodged against himvher in the Police Station and he/she would liable to be prosecuted
under Section 3 of the R.PE. {Prevention of Unfairmeans) Act, 1992. Commission may also debar
him/er permanently from all future examinations of the Commission.
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(2) Germino - Marxism ap ideology, not political theory

Politica] theory jg ot related tg -

(1) Cbnceptual Clarification of ideals

(2) Providing models of behavioyr

() Rationalization of political Propaganda

(4) Exploration of politica] ideologies

Who hag described Natura] Rights a5 ‘Nonsenge upon stijts® 9
(1) Burke (2) Bentham

(3)  Thomas Paine 4) Hume

o R ey T Farfeat o T’

(1) =% 2 gy

() dafag ¥ @ &m
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Who among the following defined freedom as ‘the absence of opposition” ?
(1) John Locke {(2) Rousseau
(3) Thomas Hobbes 4 J S Mil

Pt 4 @ foad wiwa & Ry & omufafy ¥ = § oReafe
fpar & 2

(1) v wid ) =&

@) <@ @ S B

‘Among the following what is not in conformity with the Principle of
Equality - -

(1) Protective discrimination
(2) Special reward for special ability

(3) Affirmative action of state

(4) | Homogeneity |
frifed 4 @ = wmw ¥ g @ ergewar ¥ 6 %
(1) wEnEE e

2) fa9w Fraar & fag fasy e

() T W YHAD BT

(4) W

6 John Rawls's theory of Justice is not related to -

(1) Pure Procedural Justice (2) Veil of Ignorance
(3) Equal liberty (4) Entitlement theory
ST e % R @ wd T Y
() figs vieaes =™ (2) ST H Tl
(3) WM W () ftmten Rt
IA91 A] ' 3 _ [ Contd...




7 Consider the follwoing statements -
(A) Secularism is not synonymous to atheism
(B) Secularism is acceptance of cultural pluralism
Which of the statements given above is/are correct ?
Code :
(I) Only (A) is correct
(2) Only (B) is correct
(3) Both (A) and (B) are correct
(4)  Neither (A), nor (B) is correct
Feaifen woli w frew @ifm -
(A) dabda Tiewa w1 R 3
B) valitiadr wighe Tgaam € wgfr ¥ |
mﬁwﬁéaﬂﬂ—mfﬁaﬂwaﬁ%ﬁ ?
T
(1) %I (A) @t & |
() %aw (B) w& %
G) W ®) I wd ¥
@ T@A),7T& @B aH L

8  Which kind of rights are not included in citizenship by T. H. Marshal] 7
(1) Political Rights (2>  Economic Rights
(3) Social Rights (4) Legal Rights

(1) it sl ) offw slm
() umive siftmr (@) B et

9  What is not in conformity with sustainable development ?
(1)  Organic farmingf_i (2) Environmentalism
(3) Infinite Development 4) Gandhism
Wit R N agerar ¥ w w7
(1) it ad () vERvER
() oFd famm @) ider

IA91 A] 4 [Contd...
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_ ,,-;f-/""'IO Consider the following statements and select the correct code given belows :

i

Code :
(1) Only (A) is true.

(2) Only (B) is true.

(3) Both (A) and (B) are true.

(4) Both (A) and (B) are false.

" e IR B R ST s e L e R

ES

(1) &as (A) 9 % |

(2) %aw@ (B) ¥ § |
() (A) T (B) T ¥ ¥
@ (&) @ B) A o ¥

(A) Mill supports. unlimited freedom of thought and expression

(B) Mill advocates legal restrictions on freedom of self -regarding actions,

Freifea wadt w Rar Hifvg ot R Ru @ g & gho -
(A) B fem ok oferfe @ orifm wawa @ wndw T 0
B) fm w-Rvas s@l W HrE wfEs @ gemw w@ ¥

11 Who called the Constituent Assembly of India as ‘Nation on move’ ?-

(1) Jawaharlal Nehru @) K. M. Munshi

(3) B. R. Ambedkar (4) Rajendra Prasad

‘WWﬁW~Wﬁ‘WIﬁ%’W%?

: (1) AW %6 () . uA. Helt

] .

(3) ¥ ot oiEEEY (4) TEE TER
-; 1A91 A | 5
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u 12 As a consequence of the 420d Amendment Act (1976), the following three:
terms were inserted in the Preambie -

(1) Socialist, Secular, Integrity
(2)  Socialist, Republic, Integrity
(3) Secular, Democratic, Sovereign

(4) Sovereign, Secular, Integrity

42%aﬁrwmﬁaﬁmﬁqﬁm(1w6)aﬂ&vﬂq@wﬁwmwwﬁm
o SBhm ¥ S g

(1) wwaE), a9 Frue, srauesar
(2) vNEE, TR, s@ved
@) vufriE, Wi, "Wy
4 dvy, dafrdw, smavsar

IS

X
e
1l
i

13 India is called a Democratic Republic, because -
(1) the Union Cabinet is responsible to Lok Sabha
(2) the prevalence of Universal Adult Franchise
(3) the President is elected by a popular electoral college

(4) the Parliament is supreme in India

T UF AdaArE® e 5, e

(1) Wa w1 ifvew WHAW F TR wERT 3

(2} Y e qatveR @ R

(3) TxEld uw Wt Faiew dew s) g o @
(4) WRE A GO et ¥

14  The Fundamental Right to Freedom in Indian Constitution literally do not

include :

(1) Freedom of Speech (2) Freedom of Occupation
(3) Freedom of Conscience (4) Right to Education
WRAE SR W wEEa $oqw et ¥ g wie ad d o
(1) w9 % e () EEE B W

(@) s B AT @ P W o

1A91_A] 6 [ Contd...
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Who can suspend the enforcement of the Fundamental Rights during

Emergency . ?
(1) Parliament (2) President

(3) Supreme Court (4) Lok Sabha

A & R 9@ ARl ¥ yadw @ @ BT @ gea 7
(I) @& (2) gk

(3) T=H R (G

Match List I with List I and select the correct answer ‘by using the codes -

given below the lists : . :

List T List I
(a) Formation of Gram Panchayat | {t} Article 50
(b) Uniform Civil Code (i) Article 48
(c) Agriculture and Animal Husbandry (i) Article 40

(d) Separation of Judiciary from Executive (iv) Article 44
Code :

(1) @-i)), (b)-(v), (c)-(H), (d)-)

Q) @-(v), ®)-Gi), ()-GH), (d)-G)

B)  (@-D), ®)-Gii), (c)-@), (d)-Gv)

@ @-0), b)), (©)-Gi), (d)-iv)

T 1 o gl U & A AR ok Ry g g ¥ ¥ w o w ww

B |

T I | ™ 0
(@ UM YuEd @1 e @ gL 50
b) T @ TR W (i) orgea 48
) oy ox q:z;rrm (i) ITDe 40
(@) Tl R wEwRE B g (y) s 44
F H

(1) @-i), ©)-Gv), ()G, (d)-G)
@) @), (b)), (c)-(i), (d)-()
G) (@), (b)), (c)-(), (d)-(v)
) @-@, ®)-(i), (c)-Gii), (d)-Gv)

IA91 A _ | v [ Contd...



17 In the distribution of subjects between the Union and the States, cybef
law belongs to which list ?

(1) Union list
(2) State list

(3) Concurrent list

(4) Residuary subjects

¥ o T ¥ we Rl % R ¥ e e e g A
o ¥ 7 -

(1) @ =

@ wa g

() wEd g

(4) oEfire g

18  The 42" Constitutional ‘Amendment Act shifted few subjects from State
list to the Concurrent list. Which of these is incorrectly mentioned below ?

(1) Education, Forest
(2) Forest, Protection of Wild Animals
(3) Education, Protection of birds

(4) Forest, Local government

42%ﬁﬁmﬁaﬁma&ﬁm%§5ﬁwm-@@rwﬂf@ﬁ
s Ry 1 o™ ¥ B 4 N Tm ofwfea ¥ 2

(1) e, =

(2) @, W AR @ e
(3) T, ofimt wr deew

(@) T, |WAE R

TA91 A 8 [ Contd...
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“." 19 Match List I with List II and select the correct answer by using the codes
given below :

List I (Name of State) List II (Year of Formation)
(a) Tamil Nadu i) 1966

(b) Jharkhand (i) 1956

(c) Haryana (iii) 2000

@) Sikkim (i) 1987

) 1975

Code :

4

O @, G-, @), @4
@ @0, O, ©-G, @)
G) @), O, ©-@, @)
@ @-v), b)), (-0, (@G
T [ @ g Y AW B ok BT g7 § 4 w8 St @

IO WY ¢
T I {0 W ) TN IO (e Tw)
@) i | ) 1966
(b) . FRES ) 1956
.(c). gremn | i (i) 2000
(@) Tl | (iv) .:1987
() 1975
=

(1)  (@-), b)), (©)-(v), (d)-(v)
@ @-0, )G, ©-@), (@-(v)
B3)  (@-G), G)-iD), (6)-(D, (@)-v)

@ (a)-Gv), ©)-G), (-0, (d)-Gi)
IA91 A] 9 [ Centd...
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22

On the issue of Mullaperiyar Dam, Tamilnadu has dispute with :

(1) Karnataka (2) Andhra Pradesh
(3) Pudduchery {4) Kerala
geRfar &y & 9 W afwg @ Rer ¥ -

) witew @ ‘ (@) @ig wE
(G) U F @) IR

Sarkaria Commission has recommended to convert National Development
Council as :

(1) Inter Governmental Council
(2) Inter State Council
(3) National Economic and Development Council

(4) National Confederation of State Planning Boards

e s B e & R Te R oftve B we R o
(1) oY @R wiug ff. |

@) s T TR H

¢3) W affe T R e §

(4) T ST S el %7_ g ufEe ¥

To promulgate ordinance is constitutionally President's :

(1} Function (2) Directive
(3) Right (4) Power
ooy aemy wenfid wTT ¥, iy sy
1 F@ 2) fa

(3) @ @) st

1A91_A| 10 : [ Contd...
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23 Match List 1 with List II and select the correct answer by using the codes
£ given below :

List T (Name of State) List II (Strength in Lok Sabha)
(a} Rajasthan @ 48
(b} Maharashtra - (i) 26
-.i.3' {c) - Gujarat (i) 13
55 (d) Punjab (iv) 15
(v) 25
Code : |

(1) @), B0, (©)-Gi), (d)-(ii)
@) @), ©)-@, (©)-Gi), (d)-(v)
3y (@), b)), (o)), (d)-(iv)
i (4)  (a)-(v), (b)-Gii), (c)(iii), (d)-(iv)
' | Tl g I d 3 g ok fow g g2 ¥ § /8 s &

[,

T BT
™I (= . m - T IO (AW ¥ we W)
(a) S () 48
(b) HET | (i) 26
(¢ TR (i) 13
(d) YW : Gv) 15
' ) 25
&l

D @-v), O, (©-G, (@-(ii)
@ (@-M, b)), (c)-ii), (d)-Gv)
(@) (@-0), b)), (c)-(i), (d)-(iv)

4) (a-(v), '(b)-(ii), (c)-(iii), (d)'(iV)
1A91 A] | 11 [ Contd...

i —



ieeitpein e o
~ Pl LT

24  According to Constitution, Prime Minister is :
(1) Head of the Union Cabinet
(2) Head of the Union Council of Ministers
(3) Head of the Union Government
(4) Head of the Union Administration
dfram % gER, WU ¥
(1) ¥u & |brisd &1 9uM
(2) wu @ whufive @ 9am
(3) U W@ & TUF

(4) TE & HARA & WU

25 Which Constitutional Amendment restricted the size of the Council of
Ministers to 15 per cent of total number of members of Lok Sabha ?

(1) 937 Constitutional Amendment, 2003
(2) 89 Constitutional Amendment, 2001
(3) 918t Constitutional Amendment, 2003

(4) 915t Constitutional Amendment, 2002

fiow dfyum dedem 2 ARmfie A g T H® dw a9 S p gl
N wen ¥ 15 whivd o @@ T R wn ¥ ?

(1) 93 @i afqum deliem, 2003
(2) 89 i wWiagm weleR, 2001
(3) 91 T diyum dewgw, 2003

(@) 91 = Wiy deiem, 2002

1A91_A] 12 [ Contd...
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26 Original Jurisdiction of Supreme Court includes :
(I} Enforcement of Fundamental Rights

(I) Election disputes of President

(I} Inter - Government disputes

Select the Correct answer using the codes :

Code :
(1) - (I) and (M) are correct. (2) () and (1OI) are correct. -
(3) () and (II) are correct. (4) (D, (W) and (1) are correct.

- FERH AW b YW e ¥ s § o
O T ABR B g

I wTafy—gam % faEw

() SE-—|R REe

Fel @1 ¥ I FY @& gOT ghw -

§E H . :
1) O ) e ¥ (2) () wa Jm) g &
G) @) ad ¥ ) ) M, (I & 1) 98 &

27  Arrange the following in correct chronological order and use the codes
given below :

(A} Keshavananda Bharti Case
i (B) Golaknath Case
P (C) Minerva Mills Case
i (D) Sajjan Singh Case
Code : _
(M (©), B), D), A @) (@A), O), (©), B)
(3) @), B), (A), (O (4 (B), D), (C), (A)
: ﬁ%ﬁﬁmmﬁmmﬁqﬂq$ﬁ%a€rw
W AT DL
(A) FyEF= W H
®B) WNEETT Ha
(©) frat i %9
(D) wowHiis %9
T _
(1) (©), B), (D), (A) @ &), @), ©), ®)
G @), B), (A), (O (4 (B), D), (C), (A) |
1A91 _A] 13 [ Contd...
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28  The maximum number of members permissible in State Cabinet is : -
(1) 10% of the State Legisiature
(2) 15% of the State Legislature
(3) 15% of the State Legislative Assembly
(4) Not determined in the Constitution
T Wbwew ¥ wew @ eftmew g wew ¥
(1) g Ruress & 10%
(2) v furwsw B 15%
(3) U framew @ 15%
(4) wham ¥ P wd ¥

29 Consider the following statements regarding Article 163 of the Constitution -
(A) Governor has discretion to exercise some of his functions

(B) 1In other matters Governor is ultimately bound to follow the advice
of Council of Ministers.

Select correct answer using the codes :
Code : |
(1) Only (A) is true.
(2) Only (B) is true.
(3) Both (A) and (B) are true.
(4) Both (A) and (B) are false.
HYT % ogea 163 ¥ e Pt meet W REr Hifve
(A) o9 TB FA@ F W ¥ oUW F RIS |
B) mwmﬁ}ﬁqﬁn&qaaﬁmmmwaﬂ%ﬂmm
T BT E |
@ H
(1) %a@ (A) 99 ¥ |
(2) ¥aw (B) ¥ T |
Gy (A B AT T ¥
4 (W) B) A s ¥ o
1A91 A ] | 14 [ Contd...
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Match List I with List II and select the correct answer by using the codes
given below :

List I (Name of Governor) List II (State and Year)
(a) Ramakrishna Rao (i) West Bengal, 1967
(b) Dharamveer (i) Haryana, 1982

(¢) - G D. Tapase " (iti) Andhra Pradesh, 1989
(d) Kumudben Joshi (iv) Tamil Nadu, 1988

(v). Kerala, 1959
Code :
1) @), ®-v), ()-(i), (d)-ii)
2) @-), ©)-G), (c)-Gi), (d)-(iii)
(3) (@-i), (b)-(v), (0)-(ii), (d)-(iv)
4  (@-0), (b)), (o)-(iii), (D-(v)

a1 % g ¥ 3 Aiftm ok Re @ g & & shiw s &1 W
B -

T 1 T @A) T I e AR )

(@ HEHS T | () afye smd, 1967

(b)  wEX ' Giy wfamom, 1982 |

(c) . -é’r T (iii) o1y waer, 1989

(d) wyesT sish (v) afeng, 1988
.(v) &Y, 1959

@ . '

1) @-G), ©-Gv), (©-G), (d)-Gii)
@ @-v), ©)-G), ()G, (d)-(iii)
@) (@-iiD), ®-v), ©-G), ([)-Gv)

@) (@)-(), (b)-(i), (c)-(i), (d)-(v)
1A91_A ] 15 - [Contd...



31 Few states in India have a bicameral legislature, which of the followin,
list about such states is correct ?

(1)  Andhra Pradesh, Goa, Haryana, Bihar

(2) Mabharashtra, Bihar, Tamil Nadu, Uttar Pradesh

(3) Uttar Pradesh, Bihar,.Kamataka, Jammu and Kashmir

(4) Bihar, Karnataka, Goa, Uttar Pradesh

T & g5 A frew R § 1 fer g @ 99 <o
W B T - fraew qd 2o

(1) oy WRer, iy, Eﬂ?ﬂvrr faere

(2) W, R, afweeg, sov owa

() S M, fwR, wfw, S8R @yl

4) R, wfes, W, oWy

32 In Rajasthan, Zila Pramukh addresses his resignation to -
(1)  Director, Panchayat Raj

(2) Divisional Commissioner

() District Collector

) Chief Exccutive Officer, Zila Parishad
() P, dammiwe @

(2) wuTi ongem

() e swwy @)

IA91 A 16 [ Contd...




" 33 Which of the following subjects do not belong to the Eleventh Schedule
’ of the Constitution ?

(1) Drinking Water, Libraries, Markets and Fairs

(2) Family welfare, Cuitural activities, Rural housing

(3) Agriculture, Rural Electrification, Public distribution system
(4) Livestock and animal husbandry, Agriculture, Rural housing
= A A A v afyam @ 1 ol o e 5 % 2
| (1) Yo, geewE, TR ok AR

| () wfEr weam, wieghe i, e e

| () BN, i frgden, wdete Rt s

i @ TgE AT ageeE, B, T e

v

,.,_.,u.(.
P e TR AT
LTS TR L -

byt
Il sy e

=

g 34 The Panchayat Extension to Scheduled Areas Act was passed in which

year 7

(1) 2000 _' (2) 1999

(3) 1996 4) 1994
ma@a%qﬁmaﬁwaﬁ:ﬁm%«aﬁﬁwﬁa%mmm—
(1) 2000 (2) 1999

(3) 199 4 1994

35 Among the following, what is an ‘obstacle in India's Federal
Nation-Building ?

(1) Three Language formula

(2) Planning Commission

(3) Linguistic re-organisation of States

(4) Rise of regional political parties

Freifer % & 7 wma & wEew ag-Ruin ¥ o o o7
(ORI

(2) T e

() T @ s grtew

4) &g TS T WSy

1A91 A] 17 [ Contd...



36 Match List I with List II and select the correct answer by using the COCIIIE;.
given below - '

List I (Name of State) List IY (Nature of Party System)
() Himachal Pradesh - ()  Domination by one front
(b) Uttar Pradesh (i) Contest between two major

political parties

() Kerala (ili) Contest between more than

| two political parties
(d) Tdpura ' (iv) Contest between two fronts
Code : |
M @), O, (©)-v), (d)-)
@ @-G), ©)v), (o)-GiD), @)-@
@) @), b)), (c)-G), (d)-(iv)
@ @-Gv), (b)-(iii), (c)-i), (d)-(1) _
;@%m@ﬂﬂﬂﬁaﬁﬁqaﬂ?ﬁq“??ﬁ@ﬁﬁwww

T I (o w m) T (i swen B wahy)

(@ femmw Ry O & W w gy

(b) T wey . (if) ag@aﬁ%wm
© @ (iii)a}%afamaﬁ%wéam
@ g | (iv) & At & Wy e
FE :

M @), GG, (0)-Gv), (d)-G)
@) @), G, (-G, (d)-G)
@) @i, ®)-G), (0)-G), (d)-(iv)
@ @-(v), ®)GiD), (i), (d)-)
1A91 A . 18 " [Contd..,



J;i’ Match List I with List II and select the corfect answer by using ‘the codes
given below : '

List I (Name of Organization) List II (Name of Leader)
(a) Narmada Bachao Andolan (i) Aruna Roy
(b) Ekta Parishad (i) Medha Patkar

(c) Mazdoor Kisan Shakti Sangathan (iii) P. V. Rajgopal
() Ta:ﬁn Bharat Sangh. (iv) Rajendra Singh
Code : | |
(D (@-(v), (b)), (o)-(), (d)-(i)

(2) (@)-(), ®)-(ii), ()1, (d)-(iv)

B)  (@-GD), ®)-), (c)-(ii), (d)-(iv)

@) (@-(i), (B)-1), (©)-0), @)-Gv)

Tl & g I A B oY BT g § ¥ wdl waw @
T

T 1 (@A w1 m) T 1 (e )
(a) I SERh AR () oW I
(b) uHm uhwg (i) N wewY

© g ew o @ Gi) @ & e
(d) e RE W™ (iv) s T4

7 :

() @-v), GG, (©)-0), (@)-Gi)

@ (@-G), B, ©-, d)-Gv)

@) @, ®-0), (©-Gi), @-Gv)

@ (@i, O)-Gi), ©-0) @-Gv)

IA91 A | 19 . [ Contd...
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39

40

Who has identified  party system is India from 1990's as ‘Multiplé _
bi-polarity’ ? ,

(1) Atul Kohli (2) Yogendra Yadav
(3) Rajeev Bhargava (4) Zoya Hasan

ﬁ%wm%,ﬁﬁaﬁwﬁaﬁumﬁ‘agﬁ%—gﬁw’%m
oy ?

() oiger Hreeh (@) @i A
3) e wrlg @) S s

Terminology not related to cold war is :
(1)  Brinkmanship 2) MAD

(3) Perestroika (4) McCarthyism

g ¥ dObE ol ¥ 7

(1) HER ' (2) @ w . (@)
G) Teiga @) e

Among the following, which event is not relateq to the End of Cold War ?
(1) Global war on terror

(2) Demolition of Berlin Wall

(3) Dissolution of Soviet Union

(4) End of Warsaw Pact |

i & ¥ B0 vz 9 3m % oiw ¥ wealm S & 2
(1) o & feg W 7=

(2) aﬁhaﬁréﬁmmw‘v

(3) wifag @ & fges

4) <rar 9y wr efg
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Resistance against American Hegemony includes :
() BRICS

(II) Washington Consensus

(I11) World Social Forum

(Iv) _Structural Adjustment

Select the correct answer using the codes :

Code :

(1) (D and (IV) only (2) (1) and (I1I) only
(3) (N and (IV) only @) (1) and (IIT) only
sl adw ¥ frog WY ¥ whw ¥

© fr |

M =i Wt

) fayg aitve 99

(IV) a‘i‘ama vatmﬁm

2 @ W R T W S gh

o .

() FE (@) T (1Y) (@ WEw () o D)
(33 “dhas () T (1V) @) w99 () & (1D

“Manufacturing consent’ is a phrase used for American Hegemony through
mass media by -

- {1) Noam Chomsky (2) Daniel Bell

(3) Edward Said (4) Sameer Ameen

SmlEY 9@ % fau o dur T § gl il s sEme @
war feey feam & 2

(1) = T J (2) mw d@ A
(3) T TE T @) o epiE 3
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43 The end of the Cold War was marked by the break-up of Yugoslavia in .

44

45

to different states. Which of the following is the correct list of such new
states ?

(1) Slovakia, Macedonia and Armenia

(2) Armenia, Croatia and Serbia

(3) Serbia, Macedonia and Azerbaijan

(4) Bosnia - Herzegovina, Serbia and Slovenia

W g @ wala & we givetan w1 RAtE s § e @
oA 4 FE W Y @l 08 e o w@ o b7 |

(1) wiatem, #dEPmr o s

) ot ot e wifm

(¢) offm, FEPEr oiv emdeE

(@) e~ e, wif ok @R

Which of the following is not a part of the United Nations Millennium
Development Goals ?

(1) .Achieve universal primary education
(2) Reduce child mortality

(3) Achieve universal right to employment
{4) Eradicate extreme poverty

Frea & ¥ @F-w vy e W@ % weafk Rew s ¥ @ oo B
(1) wdsiftes mue R affs s

2 Ty - gg & 9 w0

3) wENRw TR & afme W afRfa s

(4) ot Frdver & w® s

Among the following, which is not a member of the European union 9

(1) United Kingdom (2) Turkey
(3) Portugal (4) Cyprus
Frifea & & @ g0 ¥ & wow @ T ¢
(1) FTEes Rwew @ =

(3) g () uwE
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In the ‘ASEAN Plus Three’ forum, which country does not belong to
‘Plus Three’ group ?

(1) People's Republic of China (2) Australia

(3) Japan (4) South Korea
‘WA dY W A, e (@@) d7 A A B dy P
™y P

() 99 S R (2) el

(3) wF 4) zfaw iR

47  Consider the following statements regarding ALBA :
(D The common currency of ALBA is Sukre.
(I} There are 11 full members of this organisation.
(LIl) Hugo Chavez is the founder of ALBA -
Which of the statements given above is/are correct ?

Code :
(1) (@) and (I} only (2) () and (II) only
(3) (II) and (IID) only 4) @O, (n and (I an

W%Wﬁaﬁmﬁamﬁm%ﬂﬂaﬁﬁq
D T B AW Y gH §

M =¥ &= & 11 f s ¥

(I) & &89 el & G@eqge ¥ |

Sugd ¥ ¥ SE-w/d muw ud yE o

T o - |
() %= (1) <o (1) @) wEE () & ()
(G) W () o (1 @ O, () v @

48 The Seventeenth Summit of Non Allgned Movement is to be held in
2015 in :
(1) Pyongyang (2} Durban
(3) Caracas (4) Ho Chi Minh City
2015 ¥ Yz Pr¥a oidiem w17 & Rrey oieT omife @ b o
(1) i & 2 s %
@) @ Hq @ @ < B Red F
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51

On India's initiative which forum was set up at the Ninth Summit of Non
Aligned Movement at Belgrade in 1989 ?

(1) G-20 2) G-77
(3) G-15 (4) G-4
19891?%@39:1;2%?&&16@@%3&%@?%11%#%

W &9 7w W e fwar o oar ¢ '
(1) <f-20 - (2) <w-77
(3) 15 (4) 4

On which International issue, India has difference of opinion with United
States of America ? '

(1) China's presence in South China Sea

(2) . BASIC Countries' responsibility in Climate Change

(3) Destruction of Chemical Weapons in Syria

(4)  Nuclear Nonproliferation in North Korea
m@ﬂw@wﬁwwwa‘gﬁﬁmmﬂmﬁsmanﬁ—aﬁw%?
(1) < G W A owRafy

2) vwag oier § I Wi Rederd

() W@ A ot ot & Ry

4) s i@ ¥ R e

The structural factor which led to improvement in Indo-US relations in
recent fimes is -

(1) Economic reforms in India

(2) Pro-US approach of successive Indian governments

(3) Presence of large number of NRIs in the USA

(4) End of the cold war and disintegration of the Soviet Union
mﬁwm%mﬁmﬁw-—mﬁﬂmﬁﬁﬁgmmﬁ
T E -

() w9 # anffs gaw

(2) SR uRAE wE @ SR wHde eReaiu

() o ¥ W@ wen ¥ vk sl @ s

@) 9 g5 @ oW ok dfma ww @ Rme
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Among the following, what has been literally indicated in Constitution as
the ‘primary duty’ of the state in Directive Principles of State Policy.

(1) Safeguarding of forests

(2) Living wage for workers

(3) Organisation of Village Panchayats

(4) To raise the level' of nutrition

W-Hf & Fryw-aat § Preaife ¥ ¥ w ofam Y g wrehe
e % w0 ¥ e ¥

(1) = & e

2) TR ¥ foy fak gl

(3) UM vYdwEl @ Giew

(9 UNER &R ¥ gur

Consider the following statements and select the correct codes given below
(A) There shall be a Governor for each state.

(B The same person may be a Govemor for two or more states.
Codes :

(1) Only (A) is true.

(2) Only (B) is true,

(3) Both (A) and (B) are true.

) Both (A) and (B) are false.

Preifed sl o R S @ Y Ry W@ 5 @ am @ -
(A) "% U & e us uwuw @

(B) u©® & =i & @ afyw IwE F AU 8 gwAr T oo

FE :

(1) Had (A) 9 ¥ i

(2) %aw (B) & ¥ |

(3) (A) uwd (B) 3 ww ¥ |

@) (&) w ®) & wEE ¥
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S5

- 56

Afghanistan was included 2s the 8% Member of SAARC by which
Summit meeting ?

(1} 12t SAARC Summit, 2004 in Islamabad
(2) 13t SAARC Summit, 2005 i, Dhaka

() 14t SAARC Summit, 2007 i, New Delhi
@) 1% SAARC Summit, 2002 in Kathmandy

Wﬁm@mm@wﬁmnﬁwﬂv%mm%wﬁémﬁa

R O

1) 129 28w frax AT, 2004 TR
@ 133 39 fr AT, 2005 ey

@) 143 oy firey 2007 7§ fawehr
@ 113 @ e g 2002 wrewig

Council for -

(1) 4 terms @) 5 terms

3) 6 terms 4) 7 terms
Wﬁgﬁwﬁmv&waﬂmﬁmm%:
(1) 4 PEER % R @) > BRERY % fig
3) 6 weElR ¥ forg @) 7 IRy % fog

(1) Dahl, Lasswell ang Dicey

(@) Arendt, Gamer ang Almond

3) . Carlyle, Catlin ang Maclver

4) Dunning, McHwain and Sabine
ﬁﬂmww:m%ﬁﬁi@?r%m?mw&ﬁm%wma% ?
() =ow, W o5 sy

@) iz, Ty o TS

3) Wﬁsa,%‘eﬁw@%rsw
@) -g&in,ﬁwﬁaaqﬁﬁam
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“ 57 Match List T with List 11 and select the correct answer by using the codes

58

TA91 A | 27 [ Contd...

given below the lists -

List T (School of thought) List I (Related Thinker)

(@) Chicago School (i}  Peter Laslett
(b) Vienna Circle (ii) Jurgen Habermas
.(¢) Cambridge School (iii) Eric Voegelin

(d) Frankfurt School (iv} Moritz Sclick
- (v) Harold Lasswell
Code :
M @), ®)-Gii), (c)-Gi), (d)-(i)
@) (@-v), b)), (c)-(ii), (@)-(v)
3 @-), b)XGv), ©)-G), (d)-(ii)
@ @-0), b)v), (c)-(v), (d)-(iii) _
@Iﬁ@ﬂﬁgﬁ%ﬁﬁﬁq@@ﬁ%%ﬁqmwmm
®W U W T gfg -

T 1 (frem-vorem) T O (e frare)
(@) R aeem (i) Y wEE
(b) Frrem wfbw (i) T Iaem
© R g (i) o Ak
@) FHw TuEm (v) wifer Res
| (v) T wEw
F :

() @), O)Gib), (c)-Gi), (d)-(i)
@ @-v), G-, (©)-GiD), (d)-(v)
@) @), ©)-Gv), (©-G), (d)-Gi)
@) @-G). G-v), (©)-), @)-Gii)

Which of the following is not a feature of Traditional political theory ?
(1)  Study of ‘great issues’ (2) Exploring the ‘ideal state’

(3) Exploring human behaviour  (4) Philosophical orientation

B & ¥ @l wore oRe Rt o R g 3 2

) T T B e () awd ww @ g

() AFMY TR F iy 4 fFe efiiram
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59 Which feature of the Empirical Approach is paired incorrectly 7

60

(1) Chief concern : Facts

(2) Nature : Scientific

(3) Promise : Logic

(4) Validity criterion : Right or wrong

R ehewo @ @l Ridear B T wer Ty 7
(1) T& TR @ T

@ wghr : Fut

() AR : TH

(4) Wl & AT W AT TEd

Match List I with List II and select the correct answer by using the

- codes given below :

List 1 {Perspective towards state) List II (Characteristic)

(a) Liberal democratic (i) Responsive to society
- (b) Fabian (ii) Source of social injustice
{c) Anarchist ' (iii) A limited state

(d) Communitarian (iv) Basic standard of life to all

Code :

(1) (@)-Gi), ®)-G), (©)-Gv), (d-0)
2 (a)-Gii), (B)-(iv), (©)-GD), (d)-0)
(3) (@)-G), (b)-Gv), (o)), (d)-(i)
@ (@), B)-0), ©-v), (d)-Gi)

i 1w g 01X AW AR o g ¥ A oW @ T Ay

TR 1 (@ & v i) T ()

(a) SER-—AHANND () W $ 9fd TEEEE
(b) Wi | (i) wWTHE oM @ W
ORCAGETISIE (i) difT

(d) TERER (iv) TH & SEw @ gEad ®X
i:!:

(1)  (@-(Gi), b)-Gi), (©)-Gv), @-0)
@) (@), ©)-v), (-G, @-O
@) @-G), ®)-v), ()i, (d)-0)
@ (@-), OO, ©-Gv), (@)

IA91 A] 28 [ Contd...

e rmm o ek et e T e



TR T — ST S T Lle

Which state jg related tq ‘Sociaj Dawitﬁsm’ ?

(D) Welfare gia, @) Sociafist stags

(3) Fascigt State @) Post colonia] State
BT 1oy ‘ngﬂ?m’#ﬁ?&m% ?
(1) weaqogg Ty @) e Ty
O 055 L - @S- ol Ty
Match 1jq I with Lig IT and select the correct answer by using the codes
8iven bejg _
List J (Type of State) List oy (Basic Premise of State)
(2) Minima State (i) Industriag 8towth and |
| development
¥ , (b) Developmental state (i) Contro} of ©Conomic Jjf
; ©) " Collectivigeq gyaq, (i) Abolish privase life
-_ f @) Totalitarian State . | (iv) Pegce and sociy) order
% Code ; '
i D @), @) ©)-(ii), (d)-(j
@ @i, by @), (@)
(3) (@)-(i) (b)-Gii), (c)-(ii) (d-(iv)
(4) (@)-(iv) (b)-(i), (e)-(ii) (d)-iii)
Uar gt i g %qaﬂT?@?ﬁ@Hﬁ F T Rify
WI(WWW) @HWW‘J\HW)
® g O o dey g Frerey
®) P 1oy W ol Sy 4 Frefary
© TR g ) Felt et 1 g
(@ SRULCZICI (iv) sﬁ%mmﬁmw
%‘e H
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63 Which of the following is not related to welfare state ?

(1) XKeynesianism (2) New Deal

(3) Social Liberals (4) Invisible Hand
= § F B el T ¥ et a8 § e
(1) HaawE | 2 = ¥

(3)' FHISE  IQETET (4) oEsT T

64 Who among the following is not a pluralist thinker ?

(1) Laski (2) Figgis
(3) Bodin (4)  Lindse
e & & o wwed Riae @& ¥ 7

(1) = @) frlra
(3) i (4 T

65 Among the following, which group is supporter of ‘Popular Sovereignty’ ¢
(1) Althusius - Rousseau - Cicero
(2) Locke - Rousseau - Bentham
 (3) Duguit - Austin - Bodin
(4) Althusser - Hobbes - Laski
fraifea F ¥ @ o Ael yger & e ¥ 7
() ooghg - w@ - :
() ww - ' - dq9
() T — &fe — S
(4) oY — B — W

66 Among the follwoing which country's Executive is based on French Model ?

(1) Sri Lanka (2) Pakistan

(3) South Afiica 4) Germany

feifha & 4 Rew Ay & sl B aker w® e 7
(1) s (2) i

(3) o s (4) SO
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Among the following which legislature is Bi-cameral ?
(I}  France's Parliament

() Israel's Knesset

(IIT) China's National People's Congress

(IV) Japan's Diet

Select the correct answer using the codes :

Code :
(1) D and (IV) only (2) (D) and (1ID) only
() (@) only | 4) () and (V) only

ﬁwmﬁ%ﬁa—%ﬁﬁmﬁm%—aﬁm%?
O wig & gug

M zERE & We

QD) €5 B Wy T-shy

(V) SR @ sme |

? b
(1) ¥3w (W) @& qv) - @) Faw Q) w
G) ¥ () @ W O T AV)

The president of United Kingdom's Supreme Court is given two names;
one 15 : Lord Chief Justice, and another is -

(1)  President of the courts of England and Scotland
(2) Lord Chancellor

(3) Chief - Adjudicator

(4) . President of the courts of England and Wales

!WW%Wﬁi$G¥W&IﬁﬁWﬁQW§@%1

Fﬁ"éﬁcﬁﬁﬂaﬂ,aﬂ'{m%

(1) T U5 w@iedvs ¥ <a@ma o oogm
) Eﬁ"e‘wm

(3) % TsaREeT

(4 9% @ AW ¥ wwwd #w orwm

o ,..



69 Which of the following is not a correct distinction between the Parliamentary

70

and a Presidential form of Government ?

(1)

@

()

4)

Parliamentary system has two executives real and nominal but
Presidential system has a real executive only. '

Ministers are responsible to the Parliament in Parliamentary system
but to President in the Presidential system.

The tenure of Parliamentary government is fixed but it is not so in
a Presidential system.

Parliamentary system is based on close relations between the three
organs but Presidential system is marked by separation of powers.

Preg ¥ A w1 GUERE ol SHIEeT §CER & 9 w8 I

a7

(1) Wwﬁam-ﬁ%:mmwﬁ%
ST e ¥ baw dARdias eEuen 8 ' ¥

2) e e ¥ W gE % i eaErl B ¥ Wl ermmerm
sigen § 3 oy % Ul SuErl B €|

(3) HERS XHR B HEEE Cied dW ¥, Iy Suaes FEE
¥ dar T

4) dqeEE Eer ¥ e & A ot ¥ ufre dEu @id ¥ Wi

O]
@
€)
@

e wEEl ¥ oEdl B guen dar ¥ |

‘Which of the following group of countries is unitary in nature ?

Australia, Belgium, Italy, Myanmar
Bangladesh, Cub'a, New Zealand, Turkey
Brazil, South Africa, Russia, Tanzania

Zimbabwe, Kenya, Laos, Canada

ﬁwﬁﬁﬁw—%%ﬁmwmﬁw%?

(H
@)
€)

@
IA91_A]

ARy, G, s, <@
Rearsd, Ha1, W, B
32 [ Contd...




given

List 1 (Political Thinker)

(a)

(b)

©
@

below :

Robert Dahl
James Burnham

Samuel Brittan

Habermas

Code :
@-G), O, ©-GV). @-0)
@ @), OH), (©-Gi), (@-Gv)
@-Gi), ()G, ©-G), @-0)
@ @i, O, ©-0), @) |
T [ gl 0 AW AR o B e g ¥ @ W S & e

1)

3)

1 (it far)

(a)
(b)

(€)
d)

1)
@
3)
4)

IA91_A ]

KAC AR
W ged

¥gor fred
LEECin]

; 41  Match List I with List II and select the correct answer by using the codes

List I¥ (View about Democracy)

(i) Tension between capitalism
and democracy

(ii)) Ensures accountability and k
popular responsiveness

(iii) - Domination of managerial class

(iv) Dangers of democratic overload

o T en & AR H o)

() Tieas R IoilER ¥ 99 "

(i) waE e ok i
SOEd@ B gHied g

(i) wEyw T F THA

(iv) Fpditee AR F @al

@-(i), (b)-ii), ()-iv), (d)-(0)
@-(), (b)~(ii), (o)-(iii), (d)-Giv)
(@)-(ii), (b)-Gi), (©)-(v), (d)-(D)
(@)-iii), (b)-Gi), (c)-G), (d)-iv)
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79  Match List [ with List Il and select the correct answer by using the o
codes given below :

List I (Representation theory)  List Tl (Feature)

(@) Trustee Model (i) Representation of views
of others
(b) Delegate Model (ii) Representatives as loyal to
party and its policies -
() Mandate Model . - (1) Representation_of Cross-
i - : | . ‘section of a’longer society
(d) Resemblance Model C(iv) Representati{;es are

educated elite
Code :
1 @0, O)-G), ©-@. @-)
@) (@-Gv). b)), @), -0
@) (@), (b)), (©)-(), (d-(v)
@ @-(v), ©-0), ©-i), (d)-(i)
@Imqﬁrnﬁﬁaﬁqmﬁquﬁ%w&mmw

FHvwT
qg?rl(qﬁrﬁ&lﬁﬁ!aiﬂ) ol LGEELRY
(a) O WiEq - G) o % ehewel & wike
(b) vEd Wiy (i) W o suw ARl @

| wfr whfify qwRR @
 (¢) omy wieed (iii)ww%ﬁﬁma{é‘fm

s

(@) €wEE wikew (v) whittta Rife afvema ¥
@!:

1) @-), b)-Gi), ©-(i). (@-v)
@) @-Gv), (o)), (©)-), @-0)
() (@)-Gi), ©)-Gi), (-0, (@)
@) (@-Gv), )0, (©-(), (@)-(i)
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e
// 73 Match List T with List 1 and select the Correct answer by using the codes
s gven below -
FEJ’% List Y (Type of Politica) Party) List 11 (Basic feature of Political Party)
@  Catch-all party ©  Politically active eite providing
g I _ideological leadership
,lf (b} -Revolutionary party - (i}  Stress on recruitment and _
Organization
(¢) Mass party (1i)) Build up coélitions of support
(d) Cadre party ' (iv)  Overthrow existing
Constitutional structure
: Code : |
| O @G, Gy, @), (@)-)
I () (@-Gii), (b)-Gv), (©-Gi), (d)-(0)
() (@)-GiD), (b)-(i), ©-(D), (d)-(iv)
4 @-Giv), b)), (©-(), (d)~(ii) |
qeﬁlmrwﬂﬁﬁaaﬁﬁrqeﬂtﬁqWWﬁf@raﬁmmw
FfTg -
WI(W_WWW) wu(mﬁ‘mmaﬁgmﬁa‘m@
(@) waEsh & 0 mﬁwm@rmaﬁwﬂm
| T e g
() wifwrd w5 () w6 SR Wror g g
) g T (iif) T % T wr fm
@ orfeaf g (iv)ﬁamqﬁ%nﬁmﬁ%ﬁm
FT o:
(M @-Gii), (b)-(iv), (©-(), (d)-i)
) (a)-(iii), (b)-(iv), (©)-(ii), (d)-(i)
@) (@nGii), (b)-Gi), (©)-G), (d)-(iv)
@ @@, G-, ©-6, @-a
3§
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74  Which electoral system is followed in the European Parliament ?
(1) Single transferable - Vote system
(2) Additional Member system
(3) Party iist system
(4)  Alternative vote system
{&ﬁamﬁ%ﬂﬁﬂmwﬂnﬁwwmw% ?
(1) THw FhToim A9 gafy
2) ofofw we pomed
(3) =& ol
(4) Ifew 7@ Yo

7S  Which model of pressure group politics emphasises on dispersal of power
and democratic accountability ? '

(1) Corporatism (2) New Right

(3) Pluralism (4 New Left
mwnﬁmﬁ—mmsﬁﬁ%ﬁﬁmmﬁhﬂ?&mw
Waw W E |
(1) wRUEaR (2) W& =afdoy
) TEw @ @ =m

76  Among the following, what is related to Plato's thought ?

() Enlightened absolutism - (2) Egalitarian society
(3) Rule of law (4) Republicanism
Frifea % & =0 <9 ¥ fiaw & Yk ¥ ?
M) 3= Frigem (2) WS w
@) Ffw & g @) KRR
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77  Consider the following statements regarding Aristotle’s views on slavery.
(D Slavery creates leisure for the Master. |
() Slave is a living instrument.
(IID Slave is an instrument of Production.
Which of the statement/s given above is‘are correct ?
Code : ,
(1) (@) only (2) (1) and (II) only
(3) (II) and (II) only 4) (@) and (II) only _
T W IR & ER & waftm Fre=ifen st w R @it -
O wEda @l &% fg orq@iet @ gem wel ¥ o1
) T TP w9 AX T -
() T IUET H TF 99 ¢ |
evga 7 @ @v-ayd duT @t Y 7
' -
(M & O ) W (D) T (D)
() %I (1) T (1D (4) Fw () & (1)
78 Who said this -
“When people are impoverished they become greedy, when they are greedy
they become disaffected, when disaffected they voluntarily go to the side
of the enemy and destroy their own master.”
(1) Gandhi (2) Rousseau
(3) Kautilya (4) Hobbes
‘o W ERE B O, @ ¥ W & W) ¥, We Y W el E e
T oEgeE B W ¥, oWge BN W Y Wes ¥ Wy H OweEn e ww ¥
AT o @R W MY W AW ¥ ¢ up wew Rower ¥ 7
(1) 2) =&
(3) witw 49 =
79 In his which book, Machiavelli supporis Republic ?
(1) . The Discources (2) The Prince
(3) Art of War (4) History of Florence
Ao fow gwe ¥ ARGUEdl TORT @ g @ § 7
(1) T RwEw (2) = fiw
(3) e &g &k @) R oiq wE
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80  According to Hobbes, Man is pot a -

(1) Slave of Passions _ (2) Slave of Desires
(3) Slave of Leviathan (4) Slave of Fear
B & ogER, ugw ad b

(1) woamel @1 g (2) qgomet @ T
(3) ﬁamm Calcic (4) W @ g

81  John Locke does not support :
(1) Differential Rationality
(2} Paternalistic basis (ﬁ' Government
(3) Labour theory of value

(4) Limited Government

W W% W W e §

(1) Yowe fewstear &

2) ¥TER ¥ fggaes smu 5
G ™ F wm-faiw |
@ «fE awr w5

82 Which thinker has been described by Leo Strauss as ‘the propounder of
second wave of Modernity in Political Philosophy® 9

(1) Bentham (Z) Locke
(3) Hobbes (4)  Rousseau

%Hﬁﬁmﬁﬂﬁﬁ]ﬁ&ﬁ%‘ﬂﬁﬁr@?ﬁﬁeﬁgﬁmﬁzﬁw_
& yad®’ & W F R oo

(1) dug Q) wiw
@) | @ =@
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84

B m;

Consider the following statements - Do
M J S Mil differentiates between Democracy and Majoritarianism

Which of the statement:y gven above isiqre correct ?
Code ; :

(M (D only @) (D) only

(3) -Both (1) andg (1) : (4) Neither (I) nor (1D

ﬁ%mﬁwﬁwa&mm

1) ﬁ.w.ﬁaﬁmwmm%nwmm% |

m W.ﬁﬁalﬁwwﬁwﬁw%%qm?fﬁwqﬁﬁhmwweh
G- |

a’t?g%a&#@ﬂv%?r/#maa?é‘/%‘ ?

F H
(1) &aw () ) Feaw (m

@) T @) @ 7o 8 m

exchange of commodity

() Surplus vaiye is the difference between valye in use and value in
exchange of laboyr :

Which of the statement's given above Is/are correcy ?

Code :

(I) (M) and (1) only (2) (D and (1) only .-
3) (D and (D) only @ , (II} and (111) all
@Tﬁrﬁaaﬂﬁ:ww%ﬁﬁiﬁmwﬁfwﬁwaﬂﬁw~

I | |
(O &3 (11 v (1 @ %I ) v
@) &aF (1) w () @ @ &
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85 The fundamental contention between Tilak and Gandhi was on :
(1) Passive Resistance (2) Swadeshi
(3) Constructive Programme (4) Hindi Language
fve wd Wi & G ywym fer @ -
(1) T wfydy o« (2) T W
() TG HEwET T 4 & s w
86  Consider the following statements on Gandhi's ‘Hind Swaraj’.
(I} 1It's a civilizational critique of the west.
(I} Gandhi describes British rule as foreign dominance.
(I) It's Gandhi's response to violent nationalism.
Which of the statement-s &iven above is‘are correct ?
Code : |
(1) (I and (1)) only
(2). (D) and (1II) only
(3) (1) and (III) only
(4) (), (I1) and (IID) all
W%‘ﬁzw’%ﬁﬁaﬁﬁ#ﬁmﬁwﬁmaﬁﬁq-
D) T fem B ga-when ¥ | _
(1) Tﬁ'tﬁ%féswmwaﬁﬁr&ﬁu‘gﬁr%mﬁaﬁhm%% !
) =% Rew wgEm F afi AR @ owgew 3o
IR ¥ & Ay wuT Y 7
F :
(1) a9 (1) e (1)
@) %W () wd (1)
(3) %@ (D) T (1)
@) (0, () Td (U T=h
IA91_A] 40
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Among the various Gandhi - Ambedkar debates which one of the following
is incorrect ? '
(1) Gandhi was a rural champion, Ambedkar was a city admirer

(2) Gandhi favoured non-violent protest, Ambedkar was a Constitutionalist
15 - (3) Gandhi wanted Congress to work for the Dalits, Ambedkar wanted
1; g a separate political party for Dalits
i (4)  Gandhi supported Communism, Ambedkar opposed it.
TMet-srdsdH A o woE ¥ ¥ - www W § 7
(1) Tl ovg Paw & yhmrs 9, smd=at v ¥ qoigw |
) T oféww Ry & ude J, owwwt dRmEER g

i
i | (3) Tﬁ%ﬂﬂﬁﬂ&%ﬁﬁﬁﬁ%ﬁ%%{qﬂﬁ,ﬂﬁ@ﬂﬂﬁﬁﬁ%%@
. | 9UF TSNS & GEy |
f | (4) W GrgaRE ¥ guds g, srIHT TH Ry HW &
i ' :
E _ 88  Match List T with List IT and select the correct answer by using the codes
1 given below : : , _
i List I (Name of Thinker) List II (Political Idea)
(@ I 8 Mil (i) Social Contract
| (b) Hobbes (i) Statecraft of Cesare Borgia
(c) Machiavelli (tif) Class conflict
(d) Marx : (iv) Female suffrage and workers
cooperatives
Code :

(1) (@-@). B)-Gi), (c)-Gv), (d)-(ii)

) (a)-Gi), (b)-(), (c)-(iv), (d)-(iii)

(3)  @-v), (©)-(), (0)-(ii), (d)-(ii)

(4 (@-Gv), (b)), (c)-(), (d)-(ii)

gl LB gl 0¥ A D ok R g ¥ & @ s v

BT : |

T 1 (a1 ) ™ O (Toeifs faw)

(@ . wa fim (i) wWHNS aEga

®b) = C () W St = ol

(c) HframEsl (i) =t e

(d) TR (iv) wRer safier &
gt wEmTad

?E:

M @-G), O)-(i), (c)-(iv), (d)-(iii)

@) (@D, b)-Q), (c)-(iv), (d)-(iii)

(3) (@), b)), (c)-(iD), (d)-(iii)

@ (@)-(v), (b)-(ii), (c)-(i), (d)-(iii) |
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89

90

(3) oW B | @) Taomw shgmn o
91 Politics of which state is polarised along Vokkaliga - Lingayat castes 7
(1) Tamilnadu (2) Karnataka
(3) Andhra Pradesh (4) Kerala
fog T @ Torhiy deeh - Rimaa SRt wogdga ¥ o?
(1) dferg @) weE
| (3) SNy wWay 4) wH@
92 Instrument of Good Governance, not related to New Social Movement is :
(1) People's Court (2) Public Hearing
(3) Social Audit (4) Jan Lokpal
A I TUHLN, TN @ GENE e o Wt T ¥
(1) o+ oA Q) W gaE
(3) GmteE SR (4) ¥ THIW
1A91 A] 42 [ Contd...

Who has identified socialism as combination of prosperity and equality._\

(1) Jai Prakash Narain (2) Acharya Narendra Dev
(3) Ram Manohar Lohiya (4) Yusuf Mehar Ali

fpa TR @ WOEl QF GAdl % FaR % w9 A @ ¥ 7
(1) ¥ gebIgT T 2) amaef g W\

(3) T TR e (4) 9g% "eT I

Which political party advocated ‘partial opposition’ to Indian National
Congress on the doctrine of ‘Political Compulsion of Backward Economy’ ?
(1) Praja Socialist Party - (2) Tamil Manila Congress

(3) Utkal Congress - (4) Vishal Haryana Party

Rredl sreferemen 3 vl & fyald & o W e eEles @ q
YT Wig s @ e faaw e @ ?

() wou Qerfwee it (2) dfE THen HOg

-

e TR

e A E—————EE .\ L e e e i < b e e




7 93

St L o

Match List T with List Il and select the correct answer by using the codes
given below :

List I (Nature of Party System) List II (Period)
(s) Congress Domination (i) 1989 - 1998
(b) Opposition Consolidation (i) 1952 - 1967
(c) Period of Uncertainty Gii) 1998 - 2013
(d) Coalitional Party System (iv) 1967 - 1989
Code :
(1) (@-0), ©)-Gv), (o)), (d)-(iD)
) (a)-Gi), (©)-(id), (©-0), (@-Gv)

| @) (@-G), ©)-v). ©-0, (d)-(iit)
@  (@-GD, ©-G, ©)-0), (d)-(iv)

@Imﬁlléﬁﬁﬁﬁqﬁtﬁquﬁ%aﬁwmw
WY

@I(ﬁuwweﬁwﬁ) qg‘i’l_ﬂ(a:r@raﬂz)

@) @Y & G) 1989 - 1998
(b) from & THY (i) 1952 - 1967
©) aﬁﬂaaen & T | (i) 1998 - 2013
(d) TEEETEE T e (iv) 1967 - 1989
T ¢

Ay @@, O, ©-Gi), @D
@) (@), O, ©-0), -G
@) @@, ), ©-0 @-0)
@) (@G, ©)-G), ©-0), OV

g

JA91 Al 43 [ Contd...

prmmatit



94 During the 19805 and 1990° the shifts in the Indian democracy have been

referred to as -

(D
2
€))
@

1980@11990%33@%wwmﬁ§qﬁﬁa?h;ﬁ%@(

From ‘Politics of ideology to politics of representation’
From ‘Modernization’ to ‘Sanskritization’
From ‘Procedural to substantive democracy’

From ‘Consolidation of caste to secularization of class’

St fem wm@r & ?

(1)
@
3)
)

Rrareara & Teri ¥ wiitlie # TerEie
‘aryffear & deplmmr
wieaem 8 TEIE® Wibd

Sy & whgear & T & dfhemr

9%  Identify the incorrect statement regarding Dada Bhai Naoroji.

(1)
@)
()
@

He propounded the Economic Drain theory
He authored the book called ‘Poverty and Un-British Rule in India’
He was elected President of Indian National Congress twice

L

He is called the ‘Grand Oldman of India’

amﬂﬁ:ﬂﬁv&&sﬁa'aﬁw$maﬁmﬁq_
(1) SR onie Prem e & wRoeT e

@) R T T e w R T T T da R |

3) ¥ vl TEE BEE % @ 9 e Preifw 3ol
) a‘maﬁﬂﬁﬁ'm‘fqéﬁm’mﬁﬁl

1A91 A]
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97

/96 Match List T with List IT and select the correct answer by using the codes

given below -

List I (Name of Movement) List IT (Location of Movement)
(@) Sampuma Kranti (1)  Mabharashtra

(b) Navnirman (i) Kerala

(c) Daiit Panthers (iti)  Bihar

(d) Silent Valley - (iv) Gujarat

Code :

D) @-Gv), (b)), (©)-(D), (d)-(ii)

@) @), b)-Gv), (©)-(). (d)-(ii) |

G)  (-Gii), (b)), (c)-(iv), (d)-(ii)

@) (@)-Gi), (b)), (c)-(i), (d)-(iv) _ '
wlmqﬁrﬂ'ﬁﬁaaﬂﬁmaﬂiﬁquﬁﬁaﬁmw
T Bt |

T I (HEem @ wm) qshll(eﬁémmrwﬁ)_
@ @l iy ) wErE

(b) “EPmie (i) &

(c) =hmr ¥yx - (iii) feere

@) wEde I (v) TR

7

M @-Gv), GG, (o)), (d)-(iii)
@ @-GiD), (b)-Gv), (), (d)-(ii)
) @), ©)-(), (o)-(v), (d)-(ii)

@ @), b)), -G, (d)-Gv)

Which external intervention by India have been described by critics as
‘India's Vietnam® ?

(1) IPKF intervention in Sri Lanka

(2) Intervention in East Pakistan

(3) Alleged support to Pro-India groups in Nepal
(4) Intervention in Maldives '

"W%W%mwwﬁﬁ‘mmﬁw’w%'?

(1) et § ord f.3.qw, TREY

(2) & wifswm ¥ wmay |

(3) %maﬁmamefmm‘g;s’fﬁmfaameh
@) =l ¥ waay
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99

100

The Nassau Accord between India and Bangladesh related to :

(1) Sharing of river waters

(2) Checking influx of ‘lllegal immigrants’

(3) Fencing the boder

(4) Restrain border clashes between armed forces of the two states

IR @R SRy & 99 e wwear Reed Gefug ¥
(1) & 9@ 1 deaQ

(2) oy gyt & emeeE w¥ Py

() dmmel & IREd

(@) A wodl & g SE B e geRst W waw

The ‘Indira Doctrine’ of the early 19805 advocated, which Indian stand
vis-a-vis other South Asian countries ?

(1) Consolidation of bilateral relations with each country.
(2)  Strengthening multilateral relations by using SAARC.

(3) Displaying intolerance to any anti-India external intervention in any
country of South Asia.

(4) Negotiate with USA and Soviet Union to expand Indian influence
in South Asia.

1980 & @@ & WA & SR Remia’ ¥ ot aRmr YREE A ¥ wfy

aid & fem e @ wfees femm o 2

(1) veds < & @ femef d@def & wogg @

(2) Wb W TOT B 3¢ aguelid g B wvEd e

(3) Wﬁﬁﬁwqﬁwﬁ%ﬂﬁmfaﬁ%ﬁﬁiaﬁw%uﬁrm
1 g

(4) ﬁﬁwqﬁmﬁmﬁ%mm“@mwmﬁﬁwm@ﬁw
9 % 9 Al

Among the following, which issue does not figure in the composite dialogue
process between India and Pakistan ?

(1) Tulbul Navigation project (2) Sir Creek

(3) Siachin _ (4) Gwadar Port

Fraifed ¥ ¥ @1 M1 TR ol wiee ¥ d T @t e §
i X ¥ 7

(1) Vg wr-oma aRare (2) W Hw

(3) FRrate (4) IR §EWE
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~ Direction :

(Question No. 101 ¢ 110)
Each of the next 10 questions consists of two statements -

Assertion (A) and Reason (R). Examine these two statements

carefully and select the answers of these questions using the codes
given below - ' '

Code :

(I) Both (A) and (R) are true and (R) is the correct explanation
of (A).

(2) Both (A) and (R) are true, but (R) is not the correct
explanation of (A).

() (A) is true, but (R) is false.
(4 (A) is false, but (R) is true.

(uswmlolﬁuo)
mlousﬁﬁémﬁﬁw%—

M @) ok ®) ¥ @ ¥, T (R), (A) Bt W& @wen & |

@ (A s (R) 3 ww & G (R), (A) B w8 =
TR0

G) (W) wg ¥, Wy R) e ¥

@ WY wg R T

101 Assertion (A) : In order to understand the new role of political theory,

it was imperative to identify it with political philosophy.

Reason (R) :  Political Philosophy deals with perennial problems

confronting man in his social existence.

HUT (A) : vﬁﬁw%@aaﬁﬁfwwﬁsﬁﬁwmaw

m%e@vﬁ%vﬁ%w&a‘mmt

RO (R) - ﬂﬁﬁmaaﬁmm&aawwaﬁ@rﬁaﬁﬁ%,ﬁwm

IA91 A

Wmﬁmnﬁwvﬂaqffaﬂm%l
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102 Assertion (A) : Pluralism advocates the annihilation of state,

Reason (R) : Pluralism does not consider state to be an extra-ordinary
" institution.

HT (A) : YEHAR I9 F o B q@Ed B &

H1T (R) : FEAE W B TH AR Wm0 wEE ¥ |

103 Assertion (A) : Judicial review implies judicial competence to review
executive enforcement of legislative enactments.

Reason (R) :  Judicial review tends to elevate the judiciary to the rank
of super legislature.

FAT (A) A gAtawE & oY e @ sl feaaty @
Tl # Uiye dradr ¥

SR (R) : mﬁmgﬂhﬁmmﬁmaﬁw—ﬁuﬁmaﬁwﬁ
W= &l ¢ |

104 Assertion (A) : Proportional representation system is commonly associated
with Multi Party System.

Reason (R) : In this system, it is easier for small parties to get some
seats.

HUT (A) ¢ mﬂqmuﬁﬁﬂ:awnﬁwmaagaﬁﬂawm%gﬂ
B ¥ )

SR (R) : wmﬁ@%m%m@@%mﬁmeﬁm
HEE B ¥ |

105. Assertion (A) : Aristotle commended the science of politics as the master
science,

Reason (R) :  Politics is concerned with the end of human life, while
other sciences merely provide for suitable means for
achieving this end.

FUT (A) A Y T & fage o e s % we A wsien
& |

HRY (R) ©  TEFIG & FAGR AME 9T & @ 4 g9 & waie
o e %ew 3 Sugw W I ¢ R s wem
o e s owE )
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" 106 Assertion () -
Reason (R) :
HET (A) -
R (R) -
Assertion (A) :
Reason R) :

BUT (A) -
BT (R) -

108 Assertion (A) -

Reason R) :

BYT (A) -

SR (R) .

109 Assertion @A) :
Reason R) ;

PAT (A) -
BRI (R) :

110 Assertion (A) :
Reason R) :
BYT (A) -
BRI (R) -

IA91_A)

“Philosopher have only interpreted the world in varjoys
ways, the point ig to change it (Kari Marx)

“India is 4 conﬁgu_ration of Minorities » (Rajani Kothari)
Religious and linguistic Minorities are dominant jp Indian

- Politics,

5
§
i
!
:
:

" The state has become more accountabje due to new social
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111

112

113

114

Which one of the intellectual foundation of Behaviouralism is related ..fg

Research based theory building ?

(1) Systematization (2) Technique

(3) Quantification (4) Integration

AW B F-W ARed SaRBrT s s Trgia-fmfor @
et ¥ 7

(1)  =ageqe (2) wEw

() gf=rofe<or (4 umw

Post-behaviouralism can best be described as -

(1) A threat to behaviouralism . '

(2) = An extension of behavioural research

(3) A critique of traditional approach

(4) A fore-runner of structural functional approach

ST R H G A @ o wmd b -
(1) =wraE & @@ ¥ &7 F
(2) =TRAX My F wax ¥ wy N

() TOTER Efewe B wERET ¥ ey

@) s ymea eewi & oy ¥ wy A

Which element of David Easton's Input-Output Model idicates the relationship
between Political System and its Environment ?

(1)  Stability (2) Balance

(3) Persistence - (@) Equilibrium _
%Férastm%ﬁ&ﬂ~ﬁvfaq‘1%amaﬁw—maaw:hﬁwmweﬂw
3G WA % A gdw w g awar & 7

(1) e @) €ge

() wmw N (4) Ty

According to Gabriel’ Almond which agency plays the role of . interest
articulation in the Structural - Functional analysis ?

(1) Family and other primary groups

(2) Political parties

(3) Pressure grou s

(4) Mass media -

_ﬁ&wm%aﬁaﬁﬁﬁmm—umwlﬂmﬁ%sﬁwﬁ%ﬁmﬂw

a%iﬁm%amﬁaﬂwmﬁwﬁaﬁ%?
(1) Wﬁaneﬂtmmaﬁmw

(2) TeEig® Tq

(G) =9 wys

(@) W9 ¥uw d@x
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115 According to Almond and Verba, which political culture is best suited to
Liberal Democracy ?

g (1)  Parochial (2) Subject

(3) Participant 4) Civic

TS UF o Ggan, Wed iR sk s e &
i (1) dawf | (2) WY

(3) wRuwh 4) -l

i

116 Match List I with List II and select the correct answer by using the codes
given below the lists - '

R k]

List I ' List I

‘ (Meaning of Political Development) (Related Author)
fg (@) Pre-condition of Economic (i) David Apter
2 Development )
i (b) Typical politics of (i) Huntington
: Industrial society '
(¢} Synonym of political (i) W. W. Rostow
b Modernization ,
: (d) Stability and controlled (iv) Paul A. Baron
change
{v) F. W Riggs
Code :

(1) (@-(i), (O)-GiD), ()-(v), (d)-(iv)

@) @-(), b)), (©)-Gv), (d)-Gii)

BG) (@), ®b)-iii), (©)-(@), (d)-(v)

@) (@i}, b)), ()(v), (d)-ii) |
@Imqﬁllﬁgﬁwweﬂ?ﬁqw@?ﬁﬁaﬁmmw

I (ooifs e aw o) T I (GEfE e
(@ onfE fem & qF-erd (i) e gex
(b) o T W T (i) dfem

SRR
(© ik sngfrae @ (iii) =9, S0y, T
R
@) Reavr o mifw ofedt v wiw w A |
) e o R
=

(1) (a)-(ii), (b)-(iii), (c)-(v), (d)~(iv)
@) @), (b)-GD), (©)-v), (d)-(iii)
() @-(v), (b)-Gid), (o)), (d)-(v)
@ @i, ©)-0), ()-(v), (d)-(i)
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117 Consider the following statements regarding Andhra and Telangana -

()  Andhra state was created on October 15!, 1953 with Rayalaseema and
Northern circars regions of Madras state's Telugu speaking areas.

() In 1955, the States Reorganisation Commission has proposed that
Telangana region be constituted as a separate state of Hyderabad with
a provision for umﬁcation with Andhra state afier the 1961 general

elections.

(I Now, June 279, 2014 is the appointed day for the New Telangana

State.
Which of the statement/s given above is/are correct ?
Options : |
(1) . (D and (II) only
@) (I) and (ITI) only
(3) (D and (IIf) only
(4) All (I), (IT) and (IIT)
o T qETET & e F Peifea weet w R S

O =@ o % Ig S, el o s weT ¥ Pt

1 STER, 1953 # oy o S0 T |

M) 1955 ¥ o Gried SN X wer RR o R AT &% F orer
FTOER T F9@T WG, maﬂwél%amgma‘r%aﬁanaw

ﬁqﬁaﬂwwmms‘ri
(M) &9 297, 2014 90 q@EMN T & @ Rag ¥
e ¥ @ A o ad BE 2
e :
M Fw O @ @
2) FHaw @) wd (10D
(3) %W () T9 ()
@ @ () wd 1) &=h
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418 Identify the current order of activities once a demand for separatism has
& taken place keeping in view the experience of the Indian state -

Activities :

(A) Repression and Cooption |

B) _Heightened mobilization of group identities
(C) Negotiations between state and agitationists
(D) Power sharing and 1ﬁutual accommodation
Options ;

IO ®), (), D), (A)

@ © &), ®), D)

G) ®), (©), W),

@) (A, (), (), (D)

qwﬁﬁﬁmmﬁgmﬁaw%ﬁw%wwnﬁﬁw
% T8 W B Rasa Hifm | |

- niafaitmi -

(A) W R wEdeE

®) TE W H TS wd

©) st o & d o

D) wfm FERd ok st el cav
Rew - .

(I B), (©), (D), (A) R
@) (©), (4), B), (D) an
3) (B), (©), (), (D)

@ (A, ®), ©), @)
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119 Who has described ‘Science versus Traditionalism’ as ‘the new Gx\
Debate’ in international politics ?

(1) Hans I Morg.ér'ith'au
(2) George Kennan
(3) Morton Kaplan

(4) Hedley Bull

T T TrERE ﬁféﬁaﬁwﬁ@mwﬁrﬁrﬁ Hénaaaw @
L I i

(1) W 9. Antens
(2) st HeA

(3) AN BN
4) = g

126 Which of the following group is not natural clement of natidnal power ?
(1)  Geography, Resources, Population
(2) -Climate, Topography, Location _ i
(3) Ideals, intelligence and wisdom of leadership |

(4) Size of a country, topography, resources

Fe § & F-w T adw o W Tehe we a8 2 ¢
(1) i, deme, s

(2) vy, yq-emely, d@Refy

(3) omd, ygET oR Yga @ ghew

@) AW W AR, -G, G
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“Educational psychology covers the entire ranges of behaviour and
personality as related to education”. This definition was given by -

(1)  Skinner (2) Crow and Crow
(3) Kolesnik (4) Thorndike

“f%m-—nﬁﬁ:mﬂsmaﬁafﬁm@rw%aw{ﬂweﬁ?wﬁﬁaaﬁ

ST ¥ ge uirm feed ama &
() Rer
2 @ T W
(3) wwElE
4) urier®

“Educational psychology describes and explains the learning experiences
of an individual from birth through old age”. This statement is given by-

(1) Skinner (2) Crow and Crow
(3) Brown (4) Kuppuswamy

“ﬁm%aﬁa%w%mmtﬁaﬁ%wﬁmw
o e w@l ¥ aw wud -

(1) R (2) W T @
3) A 4 g @l

Utility of educatiohal psychology for teacher is -
(1) To know about self kriowledge and pr‘ep.a:ration
(2) To know about needs of children

(3) Both (1) and (2) are true |

(4) Both (1) and (2) are false :

w5 fem % fre i wiREe @ swRa ¥
() = B w T I F X R
(2) Wl B AITHN F TMEY F R

(3) Tabew W@ (1) 7 () I g &

(4) Freber @ (1) T 2) I o T g




124

123

Knowledge of educational psychology helps a teacher -
(1) To know individual differences of children.

(2) To select proper methods of teaching.

(3) To maintain discipline in class-room.

(4) All the above

e wifasm & @ & T Rewm -

(1) wwE & Jafes Rt & TF T ww@ )
(2) Sfaa T faRmt @ waw ww@ ¥ '

() wea-myw ¥ AgymEE il B ¥

4) sSwre gl

The word ‘Growth’ is used for -

(1) Child's mental development

(2) Child's social development

(3) Child's physical development

(4) Child's mental and social development

atygle /& &1 wam fean s & -
(1) W% & 9hbe @™ & Wi
(2) ® & TEINE 9™ F
() wwE & arie R & R
(4) 4o ¥ AHle 9 e em d R

126 Factors which affects a child's physical growth and development are -
(1) Heredity (2) Environment _
(3) Only Heredity (4) Both Heredity and Environment
W@ & i@ ghe 3 faem @ waie o ¥ -
(1) SsTEHA () aEEE .
(3) %aw dImgwH (4) dIEgHA I FEE AL
127 Which one of the following is a part of learing process ?
(1) Objective "~ (2) Motivation
{3) Re-inforcement (4) Pressure
f= 4 4 B ol whiea & ow O} 2
(1) =gy (2) afmERom
(3) gASe (4) @@
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given below -

/28 Match List T with List II and select the correct answer using the codes

List T ‘ List I
(@ Kohlar (1)  Trial and error theory
(b) Thorndike (i) Theory of Insight
(¢) Paviove (iti) Operant Conditioning
(d) Skinner (iv) Conditioned Response Theory
Code :

M @), G)-G), (©)-Gv), (d)-iii)

@ @-0, -G, (©-G), (d)-Gv)

@) @-GiD), O)iv), (O)-Gi), (d)-)

A @-v), O, (©)-G), (d)-(ii)
@Iﬁ@ﬂﬁgﬁﬁmﬁmaﬂt?ﬁ%féﬁﬂﬁwﬁﬂawm
T HIRE |

I T I
(a) @ ) Y T W & e
b) arfers ) g# W frarw
(©) umEEd (i) s witrn Rem
) Rew | (iv) e v egemm @ Rrarg
=

D @G, G-0), (©-Gv), (d)-Gi)

129

) @-0), ©)-Gi), (¢)-(ii), (d)-(iv)
©)  @-Gi), ®)}Gv), (o)), (d)G) |
@ @-v), b)), (o)), (d)-(iii)

Which one of these pairs is not right ?
(1) Watson - Behaviouralism

(2) John D. V. - Structuralism

(3) Piaget - Cognitive development
(4)  Wertheimer - Gestalatism

Frer % & S gm v w2 ?
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130 Feeling of self respect characterizes - .
(1) Childhood (2) Infancy
(3) Adolescence . (4) Aduithood
e W W W ® e YHE &l § |
(1) aETEe () SgrETTE '
(3) e (4) VISR
131 One word that best defines adolescence is -
(1) Development (2) Adjustment :_
(3) Transformation (4) Instability
Apiaen & Proivael @ god w9 § o B AWl U 9§ - '
(1) Taem _ (2) WIESH
3) whEd= | | @ e
132 The writer of book ‘Adolescence’ is -
(1) Stanlay Hall . (2) Hurlock
(3) Frued (4) Adler
‘Adolescence’ TE® & AED ¥ -
(1) Va9 3 (2) TW&
() s 4y s
133 Mental health doesn't characterizes - .
(1) Tolerance (2) Ability to adjust
(3) Self confidence (4) Immaturity
TR @RS B eI T ¥
(1)  weAiw (2) uwEeRE @ drgar
(3) Ty (4) smirgEa {
134 Factors hindering Child's mental health are - ]
(1) Influence of heredity (2) Family. dis-organisation |
(3) Physical defects (4) All the above
SEE & HEtaE @rem ¥ OEl A 9 ERE ¢ -
(1) mEEE w e () wiEr = frees
(3) ks AW (4) wwe @l
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The best method to make g study of a school deserters js -

(1) Case study method (2) Questionnaire method
(3)  Survey method (4)  Experimental method
Wﬁwﬁﬁw%mﬁmmﬁﬁr%—
() 8 =& ffy 2) wsErEeh fify

() wdemor Ry (@) TTew Rify

Vital for the mental health of a teacher -
(A) Social status attainment

(B) Democratic school environment

(C)  Security of job

(D) -Suﬁicient teaching materia]

Select the correct answer using the codes given below -

Code :
(1)  Only (4) @) (®B) and (C)
3) (A) and (D) _ (4) All the above

m%wﬁ%mmw%ﬁﬁma%%—

© @ # g

(D) ward fvawr wpnft

it R T g2t @ v wx wh v g
= -

(M) b (a) @ ® ()
®) A w D) @ v e
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137 A Child's maladjustment means -
(1) Losing mental balance while facing small problems
(?) Unable to adjust with environment
(3) Unable to be satisfied and happy
(4) All the above
awE F FerRed ¥ aRE ¥ -
(1) Wﬁwwaﬁwmw@w
(2) uaEel ¥ HgE i <&l & A

(3) ®ge T A T WA
) srdaq @di

138 Main reason. of tension among adolescents is -
‘(1) Equal opportunity for all (2) Generation gap
(3) Adaptation with environment (4) None of above
fpsidl & T W e BRO T -
q) = & W e B FHEEGT
@) wEE @ e |
(3) wEiE ¥ AgEE
@) e ¥ ¥ B &

139 Which of mental mechanisms helps in reducing conflict and frustration 7
(1) Repression (2) Suppression

3) Regression":‘_‘ "
ﬁﬂﬁ%ﬂﬂ—@mﬂﬁwammm% ?

(4) All the above

(1) T o (2)
(3) Wk 4) Sod@ el
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R JE—

Which one of the Psychologist work on emotional intelligence ?
(1) Howard Gardner

(2) Daniel Goleman

(3) John D. Mayer and Peter Salovey

(4) All the above

fpr ¥ A frg wdmhE 3 S gfE W wW few 7
(1) & TR '

@) ww DA

() T & ¥R T 9 gwd

@ wwlm ol

The term Emotional intelligence means -
(1) The capacity to perceive emotions
(2) The capacity to understand emotions

'(3) The capacity to control emotions

(4) All the above
e gfe ¥ ol ¥ -
(1) | w wEEE B @
(2) WX B T DA
@) @ w frEsm @
@ wogw el

'Emotional intelligence : Why it can matter more than L.Q.' - book is
written by :

(1) Peter Salovey () John' Mayer

(3) Denial Goleman (4) Nanocy -Gibbs
_‘Wgﬁ:g&gﬁ?ﬂ%aﬁﬁﬂﬁ{ﬁﬁ’,gﬁﬁ%m%~
() b @ (2) W T

(3) ¥hmw TedE 4 AP

To control emotions, children should be exercised -

(1) Self consciousness (@) Self motivation

(3) Self control (4) Intidspection

S o R Y % R A B o & aid -
(1) o = @6 (2) o YN @

@) o FEEm & (4) AIIR H
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Social inquiry model of teaching was given by .-

(1) Massialas and Cox (2) Rogers

(3) Hilda Taba (4) Jean Piaget
ﬂrm%@smmmﬁwﬁm%wﬁvm%m

(1) e wd @t Q) rerf

@) o= war | 4 <= e

The teaching model which is more helpful in teaching of language and -

grammer is -
(1) Inductive mode] (2) Concept attainment model

(3) Inquity fraining model (4) Developmental mode]

ﬁwwwagwﬁmaﬁamwmmwawﬁmw%g
Swr ¥ -

(1) errm wREms () ¥wEw wEnRy Wi

G) g1 ulirger wime @) Tremms ghmm

Appropriate Suggestion to motivate a learner to come to class regularly
may be -

(1)  Scolding (2) Criticise

(3) Fine (4) Incentive
maﬁmm#ﬁaﬁamﬁ%ﬁiqﬂﬁamﬁmwgﬁw%:
(1) st @) o |

3) g 4) vrErET

By using Audio-Visual aids, a teacher make his teaching -

(1) Easier (2) Interesting

(3) Relevant (4)  Entertaing
@Wa&:g&uﬂr&wmﬁ%m%mwﬁ—
(1) ¥ s @ ¢ ) (2) IuF s ¥

@) W Twn ¥ @) it am ¥
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Which of the following 8roup belongs to hardware ?
(1) CPU, MS. Word C.p, Key board

(2) Scanner, Monitor, Mouse, Processor

3) Ms. Excell, Scanner, Key Board, Printer

4) Photoshop, Printer, Mouse, C.D,

et % 3 A o e o 3
(1) ddry, wow = 3, W 9

149  Satellite Instructional Television Experiment (SITE) was launched on -

1) 1% August, 1975 (2) 9% November, 1080
3 20 June, 1975 | 4y 17 August, 1990
W easr Sefiferere TEI (SITE) ®q e R ?
(1) 1 s/, 1975 (2) 9 sy 1980

() 20 9, 1975 4 17 amm, 1999

130 Using ICT aided teaching -
(1)  There will be no need of teacher
(2)  Teacher will become over burdened

" (3) Teacher will act as facilitator

(4) Teacher will be at centre place
ICTasfsrwﬁrmugaaaﬂ%w—
(1) woms & ameyamar T Wwh
@) sImF w B wr qIRF & wRim

3) a;w.a%ﬁfﬁwrgﬁm‘mm%mff@ﬁ

) Somd @ vyhmr Sy o ST
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